
MATHS

BOOKS - CBSE COMPLEMENTARY

MATERIAL MATHS (HINGLISH)

PROBABILITY

One Mark Questions

1. Find P (A/B) if P(A) =0.4 , P(B) =0.8 and P (B/A)

=0.6

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mwKhFZcDF0S2


Watch Video Solution

2. Find  if A and B are two events

such that  and 

Watch Video Solution

P (A ∩ B)

P (A) = 0.5, P (B) = 0.6

P (A ∪ B) = 0.8

3. A soldier fires three bullets on enemy. The

probability that the enemy will be killed by one

https://dl.doubtnut.com/l/_mwKhFZcDF0S2
https://dl.doubtnut.com/l/_tPlGc3hYFYwS
https://dl.doubtnut.com/l/_bFuY7QpXxhQ2


bullet is 0.7 What is the probability that the

enemy is still alive ?

Watch Video Solution

4. If  and P ( not A or

not B)  , State whether A and B are

independent .

Watch Video Solution

P (A) = , P (B) =
1

2

7

12

=
1

4

https://dl.doubtnut.com/l/_bFuY7QpXxhQ2
https://dl.doubtnut.com/l/_eoJ3fuZ9UyYp


5. Three coins are tossed once. Find the

probability of getting at least one head.

Watch Video Solution

6. Find P(A/B) , is P (B) =0.5 and 

=0.32

Watch Video Solution

P (A ∩ B)

https://dl.doubtnut.com/l/_UJPSohL3kzzT
https://dl.doubtnut.com/l/_WtEp8bT1959F


7. An urn contains 6 red and 3 black balls. Two

balls are randomly drawn. Let x presents the

number of black balls. What are the possible

value of x?

Watch Video Solution

8. A die is tossed thrice. Find the probability of

getting an even number at least once

Watch Video Solution

https://dl.doubtnut.com/l/_14hebwreWyQ3
https://dl.doubtnut.com/l/_4jcTZJh7elRZ
https://dl.doubtnut.com/l/_qwsWX9ZZBSeK


9. Events E and F are such that  (not E or not

F) . State whether E and F are mutually

exclusive.

Watch Video Solution

P

= 0.25

10. Out of 30 consecutive integers 2 are

choosen at random. Find the probability so

that their sum is odd.

Watch Video Solution

https://dl.doubtnut.com/l/_qwsWX9ZZBSeK
https://dl.doubtnut.com/l/_xrgxadqAbmig
https://dl.doubtnut.com/l/_sLocJmfPRYQa


11. If event A and B are mutually exclusive and

exhaustive events and  then

Find P (A)

Watch Video Solution

P (A) = P (B)
1

3

12. A natural number x is choosen at random

from the first hundred natural numbers. Find

the probability such that 

Watch Video Solution

x + > 2
1

x

https://dl.doubtnut.com/l/_sLocJmfPRYQa
https://dl.doubtnut.com/l/_9MLz11vdEg93


Two Mark Quesitons

13. A bag contains 50 tickets numbered 1, 2, 3,

.., 50 of which five are
 drawn at random and

arranged in ascending order of magnitude

`(x_1

Watch Video Solution

1. A and B are two events such that

Find , if (i) A is a subsetP (A) ≠ 0. P (B ∣ A)

https://dl.doubtnut.com/l/_AF4kXRyOwM1T
https://dl.doubtnut.com/l/_arXxXAdml0UX


of B (ii) 

Watch Video Solution

A ∩ B = φ

2. A random variable X has the following

probability distribution find K. 

Watch Video Solution

https://dl.doubtnut.com/l/_arXxXAdml0UX
https://dl.doubtnut.com/l/_v5SWqROJUGLe


3. If  and P (B) =q

find the value of q is A and B are (i) Mutually

exclusive (ii) independent events.

Watch Video Solution

P (A) = , P (A ∪ B) =
1

2

3

5

4. If

then P(B/A)+P(A/B) equals to

Watch Video Solution

(A) = , P (B) = and P (A ∪ B) =
3

10

2

5

3

5

https://dl.doubtnut.com/l/_oqhgBsypPv7I
https://dl.doubtnut.com/l/_VAcJPbwkxvxA
https://dl.doubtnut.com/l/_UGehzAzCwjT3


5. A die is rolled if the out come is an even

number. What is the probability that it is a

prime?

Watch Video Solution

6. If A and B are two events such that

, and ,

find P (not A and not B).

Watch Video Solution

P (A) =
1

4
P (B) =

1

2
P (A ∩ B) =

1

8

https://dl.doubtnut.com/l/_UGehzAzCwjT3
https://dl.doubtnut.com/l/_pcDIi3THAEaS
https://dl.doubtnut.com/l/_oYCgqiVqJmrK


7. The probability that atleast one of the two

events A and B occurs is 0.6. If A and B occur

simultaneously with probability 0.3, then

evaluate  .

Watch Video Solution

P( ¯̄̄A) + P(¯̄̄B)

8. Three events A, B and C have probalities

, respectively. If, 

, then

find the values of P(C/B) and 

Watch Video Solution

, and
2

5

1

3

1

2

P (A ∩ C) = and P (B ∩ C) =
1

5

1

4

P (A' ∩ C' )

https://dl.doubtnut.com/l/_oYCgqiVqJmrK
https://dl.doubtnut.com/l/_lxeu86dges5z


9. A die, whose faces are marked 1, 2, 3 in red

and 4, 5, 6 in green, is tossed. Jet A be the

event “number obtained is even” and. B be B

the event “number obtained is red”. Find ifA

and B are independent events.

Watch Video Solution

10. An urn contains 10 black and 5 white balls.

Two balls are drawn from
the nm one after the

https://dl.doubtnut.com/l/_lxeu86dges5z
https://dl.doubtnut.com/l/_5HlpyKd4FrLV
https://dl.doubtnut.com/l/_4G0zE91ke2tm


other without replacement. What is the

probability that
both drawn balls are black?

Watch Video Solution

11. Prove that if E and F are independent

events, then so are the events E
and F.

Watch Video Solution

12. The probability distribution of discrete

random variable X is given below 

https://dl.doubtnut.com/l/_4G0zE91ke2tm
https://dl.doubtnut.com/l/_nNkj2N4BhYdI
https://dl.doubtnut.com/l/_uWsgkLM3NbAP


 


find the value of K.

Watch Video Solution

x 2 3 4 5

P (x) 5

K

7
k

9

k

11
k

13. If

, then find 

Watch Video Solution

P (A) = , P (B) = , andP (A ∩ B) =
7

3

9

13

4

13

P( )
A

B

https://dl.doubtnut.com/l/_uWsgkLM3NbAP
https://dl.doubtnut.com/l/_vzCSe6FaoeIK


14. In Class XI of a school 40% of
the students

study Mathematics and 30% study Biology.

10% of the class study
 both Mathematics and

Biology. If a student is selected at random

from the
class, find the probability that he will

be studying Mathematics

Watch Video Solution

15. If P(A)=0.4 P(B) = 0.8 and 

then find 

P( ) = 0.6
B

A

P (A ∪ B).

https://dl.doubtnut.com/l/_hZi3qZTb4F9H
https://dl.doubtnut.com/l/_WgYyKIF2QzIq


Watch Video Solution

16. A die has two faces each with number 1,

three
faces each with number 2 and one face

with number 3. If die rolled once
determine:
 i.

P(2) ii. P(1 or 3) iii. P(not 3)

Watch Video Solution

17. A coin is tossed 4 times. Find the mean and

variance of the probability distribution of the

number of tails.

https://dl.doubtnut.com/l/_WgYyKIF2QzIq
https://dl.doubtnut.com/l/_fcjUoUelJwdR
https://dl.doubtnut.com/l/_ugKyiyv0y2OZ


Four Mark Questions

Watch Video Solution

18. There are 25 ticketsbearing numbers form 1

to 25 one ticket is drown at random. Find the

probability that the number on it is a multiple

of 5 or 6.

Watch Video Solution

https://dl.doubtnut.com/l/_ugKyiyv0y2OZ
https://dl.doubtnut.com/l/_2FTKD7k9AFwL


1. A problem in mathematics is given to 3

students whose chances of solving it are

. What is the probability that the

problem is solved?

Watch Video Solution

; ;
1

2

1

3

1

4

2. Two
 aeroplanes I and II bomb a target in

succession. The probabilities of I and
II scoring

a hit correctly are 0.3 and 0.2, respectively. The

second plane
will bomb only if the first misses

https://dl.doubtnut.com/l/_y9LTnlR7Mw2a
https://dl.doubtnut.com/l/_slu99dSVirQz


the target. The probability that the
 target is

hit by the second plane is
 (1)
 0.06
 (2) 0.14
 (3)

0.2
(3) 0.7

Watch Video Solution

3. Two dice are tossed once. Find the

probability of getting an even number on the

first die or a total of 8.

Watch Video Solution

https://dl.doubtnut.com/l/_slu99dSVirQz
https://dl.doubtnut.com/l/_Oi25kIwEFoJt


4. A and B throw a die
 alternatively till one of

them gets a 6 and wins the game. Find their

respective probabilities of winning, if A starts

first.

Watch Video Solution

5. A man takes a step forward with probability

 and backward with probability . The

probability that at the end of eleven steps he

0.4 0.6

https://dl.doubtnut.com/l/_Zv0kqyyn7lby
https://dl.doubtnut.com/l/_sLAdIJXkimld


is just one step away from the starting point,

is

Watch Video Solution

6. Two cards are drawn from a pack of well

shuffled 52 cards one by one withreplacement.

Getting an ace or a spade is considered a

success. Findthe probability distribution for

the number of successes.22.

Watch Video Solution

https://dl.doubtnut.com/l/_sLAdIJXkimld
https://dl.doubtnut.com/l/_afvs0W2hnM6t
https://dl.doubtnut.com/l/_jZ4UWLfXIe69


7. In a game, a man wins a rupee
for a six and

loses a rupee for any other number when a

fair die is thrown.
 The man decided to throw a

die thrice but to quit as and when he gets a

six.
 Find the expected value of the amount he

wins / loses.

Watch Video Solution

8. Suppose that 10% of men and 5% of women

have grey hair. A grey haired person is selected

at random. What is the probability that the

https://dl.doubtnut.com/l/_jZ4UWLfXIe69
https://dl.doubtnut.com/l/_nXdzqOXgySZl


selected person is male assuming that there

are 60% males and 40% females

Watch Video Solution

9. A card from a pack of 52 cards is lost. From

the remaining cards of the pack, two cards are

drawn and are found to be both diamonds.

Find the probability of the lost card being a

diamond.

Watch Video Solution

https://dl.doubtnut.com/l/_nXdzqOXgySZl
https://dl.doubtnut.com/l/_pK6HQMIwxYyD


Six Mark Questions

1. If A and B are two independent events such

that  and 

then find  and 

Watch Video Solution

P(A ∩ ¯̄̄B) =
1

6
P( ¯̄̄A ∩ B) =

2

15

P (A) P (B)

2. Bag  contains  red,  white and  black

balls. Bag  contains  red,  white and  black

balls. One ball is transferred from bag  to

bag  and then a ball is drawn from bag 

A 4 3 2

B 3 2 3

A

B B.

https://dl.doubtnut.com/l/_ry36MTBX2Q1v
https://dl.doubtnut.com/l/_ulRw5chLiXU7


The ball so drawn is found to be red.Find the

probability that the transferred ball is black.

Watch Video Solution

3. A doctor is to visit a patient. From the past

experience, it is known that the probabilities

that he will come by train, bus, scooter or by

other means of transport are respectively

. The probabilities that he

will be l

Watch Video Solution

, , and
3

10

1

5

1

10

2

5

https://dl.doubtnut.com/l/_ulRw5chLiXU7
https://dl.doubtnut.com/l/_5mBOPZXqMBqv


4. As man is known to speak truth 3 out of 4

times. He throws a die and
reports that it is a

six. Find the probability that it is actually a six.

Watch Video Solution

5. An insurance company insured
2000 scooter

drivers, 4000 car drivers and 6000 truck

drivers. The
 probability of an accident

involving a scooter, a car and a truck are 0.01,

0.03 and 0.15 respectively. One of the insured

https://dl.doubtnut.com/l/_5mBOPZXqMBqv
https://dl.doubtnut.com/l/_YkqfH9TOKhp8
https://dl.doubtnut.com/l/_VyYc4UqLufi4


persons meets with an
 accident. What is the

probability that he is a scooter driver.

Watch Video Solution

6. Three cards from a pack of 52 cards are lost.

One card is drawn from the remaining cards. If

drawn card is heart, find the probability that

the lost cards were all hearts

Watch Video Solution

https://dl.doubtnut.com/l/_VyYc4UqLufi4
https://dl.doubtnut.com/l/_uviYTrrjjQEg


7. A bag A contains 2 white and 3 red balls and

a bag B contains 4 white and 5red balls. One

ball is drawn at random from one of the bags

and is found to be red. Find the probability

that it was drawn as red.

Watch Video Solution

8. In answering a
 question on a multiple

choice test, a student either knows the answer

or
 guesses. Let 
 be the probability that he
3

4

https://dl.doubtnut.com/l/_PTdoxvI14mco
https://dl.doubtnut.com/l/_l8TUuNMuhVXu


knows the answer
 and 
 be the probability

that he guesses. Assuming
that a student who

guesses at the ans

Watch Video Solution

1

4

9. Suppose a girl throws a die. If she gets a 5

or 6, she tosses a coin
 three times and notes

the number of heads. If she gets 1, 2, 3 or 4,

she
 tosses a coin once and notes whether a

head or tail is obtained. If she
obtained exactly

one head, what

https://dl.doubtnut.com/l/_l8TUuNMuhVXu
https://dl.doubtnut.com/l/_mDpylBiUXwGV


Watch Video Solution

10. In a bolt factory machines, A, B and C

manufacture bolts in the ratio 6:3:1. 2%, 5%

and 10% of the bolts produced by them

respectively are defective. A bolt is picked up

at random from the product and is found to

be defective. What is the probability that it

has been manufactured by machine A?

Watch Video Solution

https://dl.doubtnut.com/l/_mDpylBiUXwGV
https://dl.doubtnut.com/l/_t0lEBhA7y95h


11. Two urns A and B contain 6 black and 4

white, 4 black and 6 white balls respectively.

Two balls are drawn from one of the urns. If

both the balls drawn are white, find the

probability that the balls are drawn from urn

B.

Watch Video Solution

12. Two cards are drawn from a well shuffled

pack of 52 cards. Find the mean and variance

https://dl.doubtnut.com/l/_qoXfHfnTS0iO
https://dl.doubtnut.com/l/_KsC6QGQWianT


for the number of face cards obtained.

Watch Video Solution

13. A letter is known to come either from

TATANAGAR or CALCUTTA. On the envelope,

Just to consecutive letters TA are visible. What

is the probability that the letter came from (i)

TATANAGAR (ii) CALCUTTA

Watch Video Solution

https://dl.doubtnut.com/l/_KsC6QGQWianT
https://dl.doubtnut.com/l/_frUHaofurWZ6


14. Two groups are competing for the position

on the Board of directors of
a corporation. The

probabilities that the first and the second

groups will
 win are 0.6 and 0.4 respectively.

Further, if the first group wins, the
probability

of introducing a

Watch Video Solution

15. Two numbers are selected are random

(without
 replacement) from positive integers

https://dl.doubtnut.com/l/_Xhch3mdRWXtL
https://dl.doubtnut.com/l/_S3zSha82RmTI


2,3,4,5,6 and 7. Let X denote the larger
 of the

two numbers obtained. Find the mean and

variance of the probability distribution of X.

Watch Video Solution

16. A bag contains 5 balls. Two balls are drawn

and are found to be white. What is the

probability that all the balls are white?

Watch Video Solution

https://dl.doubtnut.com/l/_S3zSha82RmTI
https://dl.doubtnut.com/l/_S6bfkU4GX72z


17. Find the probability distribution of the

number of doublets in four throws of a pair of

dice.

Watch Video Solution

18. Three critics review a book. Odds in favour

of the book are 5:2, 4:3
and 3:4 respectively for

three critics. Find the probability that eh

majority
are in favour of the book.

Watch Video Solution

https://dl.doubtnut.com/l/_nsZ5h3gKhFHQ
https://dl.doubtnut.com/l/_s0umFIFYadks


19. A box contains 2 Black, 4 White and 3 Red

balls. One by one all balls are drawn without

replacement and arranged in sequence of

drawing. Find the probability that the drawn

balls are in sequence of 

Watch Video Solution

BBWWWRRR.

20. A bag contains 3 White, 3Black and 2 Red

balls. 3 balls are successively drawn without

https://dl.doubtnut.com/l/_s0umFIFYadks
https://dl.doubtnut.com/l/_oSHUhWsxLRft
https://dl.doubtnut.com/l/_dxJtO7DUKTye


replacement. Find the probability that third

ball is red.

Watch Video Solution

https://dl.doubtnut.com/l/_dxJtO7DUKTye

